Subject: Re: REBIN needs explaining
Posted by David Fanning on Wed, 01 Dec 2004 12:38:25 GMT

View Forum Message <> Reply to Message

b.hinrichsen@fkf.mpg.de writes:

> Interpolate considers these values as the new x-array which determines
> the values of the y-array. The original x-array is implicitly
> understood to be the index of A viz. [0,1,2,3].

Ah, the *X* values! Alles klar. Danke. :-)
Cheers,

David

David Fanning, Ph.D.
Fanning Software Consulting, Inc.
Coyote's Guide to IDL Programming: http://www.dfanning.com/
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